= BARRACUDA

ASSEMBLING INSTRUCTION

WINDSHIELD BRACKET

DR8300C

WWW._BARRACUDAMOTO.COM

LEGEND

. MOTORCYCLE BRACKET

STAFFA MOTOCICLETTA

SOPORTE DE MOTOCICLETA

MOTORRADHALTERUNG
SUPPORT DE MOTO

. ALLEN SCREW M6X30

VITE A BRUGOLA M6X30
TORNILLO ALLEN M6X30
INBUSSCHRAUBE M6X30
VIS ALLEN M6X30

. KNURLED NUT @8

DADO ZIGRINATO @8
TUERCA MOLETEADA @8
RANDELMUTTER @8
ECROU MOLETE 28

4. ALLEN SCREW M5X16
VITE A BRUGOLA M5X16
TORNILLO ALLEN M5X16
INBUSSCHRAUBE M5X16
VIS ALLEN M5X16

5. TEFLON WASHERS
RONDELLA TEFLON
ARANDELAS DE TEFLON
TEFLONSCHEIBE
RONDELLE EN TEFLON

6. RUBBER WASHERS
RONDELLA GOMMA
ARANDELAS DE CAUCHO
GUMMISCHEIBE

7.

RONDELLE EN CAOUTCHOUC

ORIGINAL INDICATOR

WASHERS
RONDELLA
ARANDELAS
SCHEIBE
RONDELLE

. NUT 28

DADO @8

TUERCA @28
MUTTER @8
ECROU @8




